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1D pull distribution
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1D pull distribution
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lagr_asym_usr (ppb) 1D pull distribution
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lagr_asym_usl RMS (ppm)

(wdd) sy

v'veey
€v6ey
c'veey
T'v6ey
0'v6ey
S'€6ey
v'eeey
£'e6ey
c'e6ey
T'e6er
0'€6ey
v'eeey
geeey
c¢'e6ey
Teceer
0ceey
v'16ey
€'T6cy
¢'Teey
T'162v
0'T6ey
v'o6ey
€'06¢y
c¢'o6ey
T'062t
0'06¢Y
v'68¢y
£68cy
2'68¢y
T'68cy
0'68¢y
'88¢y
£'88¢y
c'88ey
T'88¢r
0'88¢y
v'/82y
€'/8¢y
c¢'l8cy
T'/82v
0'/8¢y
'98¢y
€98ey
298¢y
T'98er
098¢y
'a8ey
€'98¢y
2's8ey
T's8er
0's8¢y



3 8 ° ° 2 &8 8 F
S 3 g # 3 3
+ + o S + + ]
s = < & —
e ° e ]
- & 3z . ¢ ]
] 5] K] 5 8 © —]
] ) 5] k= 5 ] H g
c i = 2 g 3 s g DB ]
o = 4] =) o < () = n
=
=}
3 \\m
s
2 e
© 1
= 1
o —]
(@)
i
I R | L | L L
< N o [ee]
— — —
I ——
— ——
[N —————
- ——
- < [,
i ®
N °
. — o
N N — 1
™~ — e ——
o ——e—
N —_——
—
—_—
—
N —
2 —
|.|_
~
———
N O
< Q|
€
=
~
>
[3)
E
Q.
b_
£
©

400F—

-100




diff_bpm4eX RMS (um)
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diff_bpm4eY RMS (um)
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1D pull distribution
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diff_bpm4aY RMS (um)
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diff_bpm1X RMS (um)
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1D pull distribution

diff_bpm1Y (nm)
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diff_bpm1Y RMS (um)
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1D pull distribution
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1D pull distribution
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1D pull distribution
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1D pull distribution
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